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T.Y. B.Com. (External)
BUSINESS REGULATORY FRAMEWORK (M. LAW)
(2013 Pattern)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define ‘Acceptance’. What are the Legal Rules of a ‘Valid Acceptance’
according to the ‘Indian Contract Act’, 18727 [20]

02) Explain in brief the ‘Rights and Duties of Partners’ towards other partners.[20]
OR
Who is an ‘Unpaid Seller’? Explain in detail ‘Rights of an Unpaid seller’.[20]

03) a) Define the terms ‘defect’ and ‘deficiency’ with illustrations under the

Consumer Protection Act, 1986. [10]

b) Explain different kinds of Intellectual Property Rights. [10]
OR

a) Explain in detail concepts of ‘Unfair Trade Practices’ and ‘Restrictive

Trade Practices’ with examples. [10]

b) Explain in detail ‘Rights of Design Holder’. [10]

04) Define ‘Negotiable Instrument’. Explain various ‘Types of Endorsements’.[20]

05) Write short notes on (Any Two) : [20]
a) Parties to Negotiable Instruments.
b) Advantages of E-Commerce.

c) TRIPS.
d) Powers of Arbitrators.
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ADVANCEDACCOUNTING
(2013 Pattern)

Time: 3Hourg] [Max. Marks:100
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Useof calculator is allowed.

Q1) @ State with reasons whether the following statements are True or False.
(Any Six) [12]

1)  Acceptances, Endorsement and other obligations are a contingent
liability of abank.

i)  Average clauseis applicablein case of under-insurance.

i)  The difference between invoice price and cost price of goods is
called“Loading”.

IvV) Liquidratioisasoknown as?2:1ratio.

v) Single Entry System is not used by small traders hawkers and
peddlers.

vi) Branch Adjustment Account is prepared to ascertain the net profits
of the branch.

vi) AS-12 stands for Employees benefits.

viii) 20% of the net profits of each year iscarried forward to the Reserve
Fund in cooperative society.

IX) Service Tax is atax imposed by Government of India on services
provided outside India.

P.T.O.



b)

V)
v) LER.S
vi) Short Sales.

Write Short Notes (Any Three).
AS-17 Construction Contracts.
Non Performing Assets.
Core Banking System.
Features of Consumer Co-operative Societies.

[18]

Q2) Fallowingisthetria balanceof Pratham Coop. Bank Ltd., Daund ason 31-3-2018.
You arerequired to prepare Profit and LossA/c for the year ended 31/3/2018
and the Balance Sheet as on that date as per Banking Companies Regulation

Act with necessary schedules. [20]
Trial Balanceason 31/3/2018

Particulars Debit (X) |Particulars Credit (%)

Loan, Cash Credit & Share Capital

Overdraft 2,44,125| 56,250 Equity Shares

Premises 86,250| of Rs.10 each fully pd. 5,62,500

Indian Govt. Securities | 4,50,000{ Reserve fund 2,81,250

Sdaries 31,500( Current Deposits 1,12,500

General expenses 30,375 Fixed Deposits 1,40,625

Rent & Taxes 3,375| Savings Bank Deposits 86,250

Director’s fees 2,250| Profit & Loss as on

Stock of stationery 9,000|01/04/2017 20,250

Bills purchased & Interest & Discount received| 1,40,625

discounted 51,750

Interim dividend paid 19,125

Shares of company 56,250

Cashin hand 2,13,750

Money at call &

short notice 90,000

Interest Paid 56,250

Tota 13,44,000 13,44,000
[5515]Ext.-302 2



Adjustments:-

a Provide rebate on bills discounted Rs.1,125.

b)

C)
d)

Provide Rs. 3,375 for doubtful debts.
Authorised capital was 1,20,000 equity shares of Rs. 10 each.
Provide Rs. 9,000 for Taxation Reserve.

OR

FollowingistheTrial Balance of Saraswathi Co-operative Credit Society Ltd.,
Surat as on 31/03/2018 and other information. You are required to prepare
Profit & Lossa/c for the year ended 31/03/2018 & aBalance Sheet as on that

date.
Trial Balanceason 31/03/2018

Particulars Debit(Rs.)Particulars Credit(Rs.)
Cash in hand 3,600|Share Capita (paid up) 7,50,000
Cash at bank 14,000({Reserve fund 50,000
Fixed Deposit with Member’s Deposit 22,47,750
DenaBank 1,55,000|Dividend Equalisation Reserve| 18,000
Office Furniture 7,000(Profit & LossAlc
Interest on members (Ason 01/04/2017) 11,000
Deposit 80,000|Interest received 1,78,000
Interest due on loans 8,000{Commission received 4,000
Salary & allowances 30,000|{Sundry income 300
Office Expenses 5,000{Co-operetive
Printing & Stationery 400(Devel opment fund 2,550
Travelling & Conveyance 600|Staff provident fund 20,000
Insurance Premium 1,000|Profit & Loss for
Contribution to theyear 2016-17 60,000
provident fund 2,000
L oan due from members|30,00,000
Dividend paid 35,000

33,41,600 33,41,600
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Other information:

a)
b)

c)
d)
€)

f)

Q3) &)

b)

Interest due on members deposit amounted to Rs.5,000.

Interest accrued due but not received was Rs.2,000.

Salaray due but not paid Rs.300

Charge Depreciation @ 10% p.a. on office furniture.

Audit fees due unpaid for the year amounted Rs.3,000

Directors made the following appropriations for the year 2016-17.
1)  Dividend @ 5% on paid up share capital.

i)  Additionsto Co-operative Development fund by Rs.3,000.

A fire occurred in the business premises of Maharashtra Traders on
15/10/2014. From the following particulars, ascertain the loss of stock

and prepare a claim for insurance. [10]
Stock on 01/01/2013 Rs. 34,000
Purchases from 01/01/13 to 31/12/13 Rs. 1,22,000
Salesfrom 01/01/13 to 31/12/13 Rs. 1,80,000
Stock on 31/12/13 Rs. 30,000
Purchases from 1/1/14 to 14/10/14 Rs. 1,47,000
Salesfrom 1/1/14 to 14/10/14 Rs. 1,50,000

The stock salvaged was worth Rs. 18,000. The amount of policy was
Rs. 63,000. There was an average clause in the policy.

Kirti Traders has a branch at Bangalore. Goods are invoiced at cost plus
50%. Branch remitsall cash received to head office and all expensesare
met by head office. From thefollowing particulars, prepare Branch Stock
Alc, Branch Debtors A/c, Branch petty cash A/c, Branch Expenses A/c
& Branch Adjustment A/c. [20]
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Rs.

[5515] Ext.-302 5

Stock on 01/04/2017 9,300
Debtors on 01/04/2017 6,800
Petty cash on 01/04/2017 100
Goods invoiced to Branch at Invoice price 51,000
Cash sdles 25,010
Credit sales 31,000
Petty cash remittance to Branch 400
Cash received from ledger accounts 30,400
Goods returned by credit customers 1,200
Goods returned by branch to head 1,500
Officeat invoice price
Actual petty expenses by branch 370
Allowances to Debtors 400
Goods transferred from Satara 2,100
Branch to Bangal ore Branch Bad debts written off 600
Shortage of goods 450
Discount allowed to customers 200
Rent & Taxes 3,000
Salaries & wages 2,000
Advertisement 400
Interest charged on the overdues of credit customers 1,000
Q4) Chandrika Traders, keeps their books on Single Entry System. [20]
d Their Balance Sheet as on 01/04/17 isasfollows.
Liabilities ¢ Assets <
Capitd 1,20,600|Land & Building 80,000
Creditors 69,800 |Machinery 50,000
Billspayable 29,000 |Patents 20,000
Loans 30,600 |Fixtures 15,000
Gen. Reserve 20,000 |Stock 44,600
Ols. Wages 2,680|Debtors 49,400
Bank overdraft 4,000|BillsReceivables 14,600
Cashin hand 3,080
Tota 2,76,680 Total 2,76,680




b) Cash Book for the year ended 31/3/18

Particulars T |Particulars <
To Balance b/d 3,080(By Bank overdraft 4,000
To Debtors 45,980(By Wages 15,280
ToBillsreceivable 11,400|By Loans paid 10,600
To Capitd 15,000|By Creditors 41,000
To Sales 35,820|By Billspayable 21,800
To Commission 5,000By Salaries 23,400
To Rent 22,000/By Sundry Expenses 1,460
By Int. on loans 2,000
By Drawings 8,940
By 6% Investment
(purchased on 1/10/17) 8,000
By Bal c¢/d
Cash 1,580
Bank 220
1,38,280 1,38,280

c) TheRemainingtransactions:-

Rs.
Credit Sales 76,000
Credit Purchases 70,000
BillsRecelvablereceived 21,400
Stock on 31/3/2018 59,000
Discount to customers 1,020
Discount from suppliers 740
Billspayableissued 19,400
Bill Receivabledishonoured 3,000
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d) Adjustments-

1)  Provide 5% for doubtful debts on debtors and bills receivable.

i)  Depreciate Machinery by 5% and land & building by 2%5%, Patents
and fixtures by 10%.

i)  Outstanding wages are Rs. 1,820 and salary outstanding amounted

to Rs. 1,080.

Iv) Transfer Rs.10,000 to General Reserve.
Prepare Trading A/c & Profit & LossA/c & Baance Sheet as on 31/3/18.

OR

The following summarised Profit and Loss A/c of Tanya Ltd. for the year
ended 31/3/2018 and Balance Sheet as on that date.

Dr. TradingA/c Cr.
Particulars X |Particulars <
To Opening Stock 1,00,000|By Sales 8,50,000
To Purchases 5,60,000{By Closing Stock 1,50,000
To Gross profit 3,40,000
10,00,000 10,00,000
Profit and Loss A/c
Particulars X |Particulars <
To Operating Expenses By Gross profit 3,40,000
Selling & Distribution 30,000By Non-op. Income
Administrative Exp. 1,50,000| I nterest 3,000
Finance Charges 15,000/Profit on sale of shares 7,000
To Non-op.Expenses
Loss on sale of Assets 5,000
To Net Profit 1,50,000
Total 3,50,000 3,50,000
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Balance Sheet of Tanya Ltd. as on 31/3/18.

Liabilities T |Assets 3

| ssued Capital Land & Building 1,50,000
2000 Equity Shares of Plant & Machinery 80,000
Rs.100 each 2,00,000| Stock 1,50,000
Reserve Fund 90,000|Debtors 70,000
Profit & LossA/c 60,000|Bank balance 30,000
Sundry Creditors 1,20,000

Bank Overdraft 10,000

Tota 4,80,000| Total 4,80,000

Calculatethefollowing ratios:-

)
b)
c)
d)
€)
f)
9)

Current Ratio.

Liquid Ratio.

Gross Profit Ratio.
Net Profit Ratio.
Operating Ratio

Stock Turnover Ratio.

Debtors Turnover Ratio.

Qgg Qgg Qgg Qgg

75 7

[5515] Ext.-302

Q %Q %Q




Total No. of Questions : 5] SEAT No. :

P119 [Total No. of Pages : 2
[5515] Ext.-303
T.Y. B.Com. (External)
ECONOMICS
Indian and Global Economic Development
(2013 Pattern)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the place of Agriculture in the Indian Economy. [20]

02) What are the basic characteristics of the Indian Economy as an Emerging
Economy? [20]

OR
Explain the characteristics of industrial policy 1991.

03) a) Explain the importance of foreign trade in economic development. [10]
b) State the role of human resource in economic development. [10]
OR
a) What are the challenges on Globalisation?
b) State the advantages of foreign capital.

04) Explain the role of basic infrastructure in economic development of India.[20]

05) Write notes on (Any Two) : [20]
a) SAARC.
b) World Trade Organization (WTO).
c¢) Human Development Index (HDI).
d) Convertibility of rupee on current account.

+4 4+
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ECONOMICS
International Economics
(2013 Pattern)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

Q1) Explain the term ‘International Trade’. Distinguish between Domestic Trade
and International Trade. [20]

02) Critically examine the Comparative Cost Advantage theory of International
Trade. [20]

OR
Explain the factors determining ‘Terms of Trade’. [20]

03) a) Explain the concept of ‘Balance of Trade’ and ‘Balance of Payments’.[10]

b) Explain the structure of ‘Foreign Exchange Market’. [10]
OR
a) Explain the objectives of ‘SAARC’. [10]
b) Explain the nature and scope of Euro Dollar Market. [10]
04) Evaluate the India’s Foreign Trade Policy since 1991. [20]
05) Write short notes on (Any Two) : [20]

a) Intra Industrial Trade.

b) Fixed and Flexible Exchange Rate.
c) BRICS.

d) Role of Multi National Corporations.

+4 4+
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AUDITING AND TAXATION
(2013 Pattern)

Time : 3 Hours| [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) What is meant by Auditing? State the objectives of Auditing.
OR

a) Explain the basic principles of governing an efficient Audit.

b) Explain the content of Audit Report.

02) Write short notes on (Any Four) :
a) Types of Audit Report.
b) Types of Frauds.
c) Audit Programme.
d) Tax Audit.
e) Liabilities of Company Auditor.
f)  Types of EDP Accounting System.

03) a)  Write the following terms :
i)  Advance Tax.
i) Income.
) Agriculture Income.

1v) Assessee.
OR

[20]

[10]
[10]

[20]

[10]
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b)

Mr. Nilesh owns two houses for his Residential purpose following details

are available. [10]
Particulars House I | House II
3 3
Standard Rent 4,80,000 | 6,00,000
Fair Rent 5,00,000 | 4,90,000
Municipal value 6,00,000 | 7,30,000
Repairs 60,000 70,000
Ground Rent 70,000 60,000
Municipal Tax paid by Tenant 15,000 20,000
Interest on Borrowed loan (taken after 1.4.99) | 2,15,000 1,90,000

You are required to determine the taxable income from House property

of Mr. Nilesh for A.Y. 2019-2020.

From the following Profit & Loss Account of Mr. Swaraj, Pune compute

his taxable income from business for A.Y. 2019-20. [10]
Dr. Cr.
Particulars 3 |Particulars 3
To Salary 40,000 By Gross profit B/d 2,22.400
To Rent 46,000 [By Bad debts Recovered 15,000
To Advertisement 15,000 |By Commission 85,000
To Int. on loan (Business)| 16,000 (Business Related)
To Depreciation 95,000 |By Dividend from 15,000
To Printing & Stationery| 24,000 Domestic company
To Postage 2,400 |By FD Interest 40,000
To Loss on sale of share | 9,000
To General Expenses 15,000
To Patents 20,000
To Bad debts 5,000
To Income Tax 2,000
To Wealth Tax 1,000
To R.D.D. 6,000
To Penalty on GST 4,000
To Charity to poor 2,000
To LIP (Self) 12,000
To Net Profit 63,000

3,77,400 3,77,400

2
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Additional Information :

a) Printing Stationery & Advertisement Expenses is 50% related to
Private purpose.

b) Allowable Depreciation as per Income Tax Act % 90,000.

c) Business receipts ¥ 90,000 is not entered into Profit & Loss Account.

d) Depreciation on Patents @ 25% is allowed as deduction.

04) Mr. Raj is an employee of ABC Ltd. Co, Nashik. Find out taxable income

from salary for the A.Y. 2019-20. [20]

a) Basic salary ¥ 80,000 p.m.

b) D.A.20% on Basic salary (From the part of Retirement Benefit).

c) Bonus 10% on Basic salary.

d) Entertainment allowance Z 10,000.

e) Employer contribution to RPF @ 16%.

f)  Interest credited to RPF balance @ 12% % 36,000.

g) Reimbursement of medical expenses T 24,000.

h) Electricity and water charges % 5,000 p.a. each paid by employer.

1)  His contribution to RPF % 8,000.

j)  He has 3 childrens studying in school. He get ¥ 80 p.m. as education
allowance for each children.

k) Free refreshment in office ¥ 5,000 p.a.

)  Free meal for 280 working days costing ¥ 120 per meal.

m) A motor car (1.8 CC) is provided by employer for the purpose of office
as well as private. Driver also provided with car. Expenses is born by
employer.

n) Insurance premium on his own policy ¥ 10,000 and his wife policy
% 8,000 is paid by employer.

0) Employer deducted % 2,500 as Professional Tax from his salary.

Q5) Mr. Avinash aged 50 years working in PQR Ltd., Mumbai. He has furnished
the following details on his income for the year ended 31.3.2019. [20]
Particulars N
Salary 6,880,000
Transport Allowance 10,000
House Rent Allowance received 1,20,000
Rent paid on House 96,000
Medical Allowance 48,000
Taxable Income from Let out property 1,36,820
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Municipal Tax paid

Current Year 4,000

Last Year 2,000
Free car (1800 CC) use both purpose office as well as private
cost of expenses is born by employee himself. 22,000
Share of profit from
20% share of profit from partnership firm 40,000
A Hindu undivided Family 38,000
Income from Business 6,20,000
Dividend received from Domestic company 60,000
Interest received on FD 80,000
Interest on capital from Firm at 12% p.a. 92,000
Amount received on maturity claim of Insurance policy
(Bonus include % 40,000) 2,40,000
Income from Lottery 80,000
Interest received on Saving Bank A/c. 16,000
Long Term Capital gain 1,60,000
His Saving & Investment
1) LIC premium 60,000
2) Donation to National Defence Fund 20,000
3) Repayment of Higher Education Loan

(Including Interest Rs. - 20,000) 60,000
4)  Repayment of Housing Loan

(Including Interest ¥ 30,000 & Stamp Duty % 10,000) 90,000
5) Medical Insurance Premium

Mother (by cheque) (Age 69 years) 32,000

Himself (by cash) 15,000
6) National saving certificate 60,000
7)  Deposited in PPF Account 60,000
He paid Professional Tax 2,500
Company has deducted TDS from his salary for the year 2,40,000

Compute total taxable Income & Tax liability of Mr. Avinash for the A.Y.
2019-2020.

+4 4+
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XV)
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48,000

1,36,820
4,000
2,000

22,000

40,000
38,000
6,20,000
60,000
80,000
92,000

2,40,000
80,000
16,000

1,60,000

60,000
20,000
60,000

90,000

32,000
15,000
60,000
60,000
2,500
2,40,000

R RN a8 2019-20 FHAAT HUH IAA 9 FHIdT FiaEl.
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Total No. of Questions : 5] SEAT No. :

P122 [Total No. of Pages : 2
[5515] Ext.-306

T.Y. B.Com. (External)
BUSINESS ADMINISTRATION
Human Resource Development & Marketing
(2013 Pattern) (Paper - II) (3411)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks alloted to the question.

Q1) Define Human Resource Planning? Discuss the scope and nature of Human
Resource Planning. [20]

02) What is training? State the various methods of training. [20]
OR
What is career planning? What are the objectives of career planning?  [20]

03) a) What is the procedure of performance appraisal? [10]
b) Explain the functions of marketing. [10]
OR
a) What are the advantages of trade mark? [10]
b) Explain the significance of Global Marketing. [10]

04) What is distribution channels? State the types of distribution channels. [20]

05) Write short notes on (Any two) : [20]
a) E-Marketing
b) Voluntary Retirement scheme
c) Quality Circles
d) Characteristics of packaging

PT.O.



Total No. of Questions : 5]

P122 [5515] Ext.-306

T.Y. B.Com. (External)
BUSINESS ADMINISTRATION
Human Resource Development & Marketing
(2013 Pattern) (Paper - II) (3411)
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Total No. of Questions : 5] SEAT No. :

P123 [Total No. of Pages : 2
[5515] Ext.-307

T.Y. B.Com. (External)
BANKINGAND FINANCE
305-b : Financial Markets and Institutions in India

(2013 Pattern) (Paper - II) (3421)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain basics of exchange rate determination and foreign exchange risk
management. [20]

02) Write role of financial system in economic development and indicators of

financial development. [20]
OR
Explain structure of Indian money market and reforms in Indian Money Market
after 1991. [20]
03) a) Explain participants of Indian Capital Market. [10]
b) Explain objectives of Security Exchange Board of India (SEBI).  [10]
OR
a) State functions of Small Industries Development Bank. [10]
b) State functions of Merchant Bank. [10]

04) Explain distinction between Bank and Non-Banking Financial Institutions.[20]

05) Write short notes on (Any Two) : [20]
a) Post office saving scheme.
b) Functions of Industrial finance corporation of India.
c) Provident Fund Regulatory and Development Authority.
d) Performance of Unit Trust of India.

s
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BANKINGAND FINANCE
305-b : Financial Markets and Institutions in India
(2013 Pattern) (Paper - II) (3421)
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Total No. of Questions : 5] SEAT No. :

P124 [Total No. of Pages : 2
[5515] Ext.-308

T.Y. B.Com. (External)
BUSINESS LAW’S AND PRACTICES - 11
(2013 Pattern) (Paper - II)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) State meaning of Business Ethics. Explain the principle of Business Ethics.[20]

02) State the rules for payment of wages, Responsibility of payment of wages

and wages period as per the Wages Act, 1936. [20]
OR

Explain the privileges and special rights of Registered Trade Union as per the

Trade Union Act, 1926. [20]

03) a) State provisions regarding offences and penalties as per the Provident

Fund and Miscellaneous Act, 1952. [10]

b) State the meaning of Oppression and Mismanagement. State the things
which includes in Oppression and Mismanagement. [10]

OR

a) State meaning of Inspection and Investigation and explain the difference
between Inspection and Investigation. [10]

b) Explain the concepts of Minimum Bonus and Maximum Bonus as per

the Bonus Act, 1965. [10]

04) Explain the provisions regarding safety of workers as per the Factories Act,
1948. [20]

05) Write short notes (Any Two) : [20]

a) Provisions of welfare of the workers. (The Factories Act, 1948).
b) Provisions regarding Compromise an Arrangement.

c) Inspector as per the payment of Wages Act, 1936.

d) Social responsibilities of Companies.

s
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T.Y. B.Com. (External)
BUSINESS LAW AND PRACTICES - 11
(2013 Pattern) (Paper - II)
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Total No. of Questions : 9] SEAT No. :

P125 [Total No. of Pages : 2
[5515] Ext.-309

T.Y. B.Com. (External)
305 (d) : CO-OPERATION AND RURALDEVELOPMENT
(2013 Pattern) (Paper - II) (3441)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) Q.No. 1 is compulsory.

2) Solve any five questions from Q.No. 2 to Q.No. 9.

3) Figures to the right indicate full marks.

Q1) Define Co-operative Management. Explain the objectives and functions of
Co-operative Management. [20]

02) Define Director. Explain the responsibilities and role of board of directors in
co-operative management. [16]

03) What is mean by Human Resource Management? Explain the role of HRM in
recruitment and training. [16]

04) Define decision making. State the importance of decision making in co-operative
management. [16]

05) Explain the powers and functions of Co-operative Registrar. [16]

06) Whatis Financial Planning? Explain briefly the budget and Accounting of Co-
operatives. [16]

07) What do you know about financial control? Explain the operating expenditure

and cost control of co-operatives. [16]
08) State the objectives and significance of Co-operative Audit. [16]
09) State briefly the powers and duties of Co-operative Auditor. [16]

s
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Total No. of Questions : 5] SEAT No. :

P126 [Total No. of Pages : 4
[5515]Ext.-310

T.Y. B.Com. (External)
COST AND WORKS ACCOUNTING
(2013 Pattern) (Paper - 1I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) a) State whether the following statements are true or false. [5]
1)  Cost pool is like Cost centre.
1) Variable overhead is a peroid cost.

i) Job costing and contract costing are the forms of specific order
costing.

1v) Service costing is a form of operation costing.

v)  By-products are produced incidently in addition to the joint products.

b) Fillin the blanks : [5]
1)  Bad debts is an example of overheads.
1) overhead rate used in those units in which all product

utilize same amount of time in each department.

i) In contract accounting, the total loss if any, is transferred to
___account.

iv) In process costing each process is treated as a separate

v)  Operating cost is the cost incurred for providing

02) Distinguish between Traditional Product Costing Approach and Activity Based
Costing Approach and explain the types of cost drivers. [20]

OR

Explain the various methods of costing.

PTO.



03) Write short notes on (Any Four) :

a) Elementwise classification of overheads.

b) Types of overhead rates.
c) Machine Hour Rate.

d) Cost Plus Contract.
e) Features of Service Costing.

f)  Abnormal loss.

[20]

04) Youare supplied with the following information of Ravalgoan Ltd. Ranjangaon,
for the year ended 31-3-2017, from which work out the production hour rate
of recovery of overheads in Depts. ‘A’, ‘B’ and ‘C’.

[20]

Particulars Total Production Depts. | Service Depts.
4 A B C D E
3 3 3 3 3
Factory Rent 12000 | 2400 | 4800 ([ 2000 | 2000 800
General overheads 3600 | 100 2100 800 300 300
Indirect Materials 5900 | 1200 2000 | 1000 | 1300 400
Machinery
Depreciation 5000 | 2500 1600 200 500 200
Electric lighting 4000 | 800 2000 500 400 300
Total 30500 | 7000 | 12500 | 4500 | 4500 | 2000
Estimated working
Hours 1750 3000 1125 - -

Expenses of Service Depts. ‘D’ and ‘E’ are to be apportioned as per

Simultaneous Equation Method as under.

Particulars A B C D E
Service Dept. ‘D’ | 30% | 40% | 20% - 10%
Service Dept. ‘E” | 10% | 20% | 50% | 20% -

05) a)

A firm of building contractor began to trade on 1-4-2016. The following

was the expenditure on the contract for Rs. 4,00,000. [15]
Particulars 4
Materials issued to contract 50,000
Plant used for contract 20,000
Wages 71,000
Other expenses 10,000

[5515]Ext.-310 2



b)

Cash received on account to 31-3-2017 amounted to ¥ 1,44,000/-. The
work certified was % 1,80,000/-. Of the plant and materials charged to the
contract, plant which cost ¥ 4,000/- and materials which cost ¥ 3,000/-
were lost. On 1-3-2017 plant which cost ¥ 3,000 was returned to stores.
The cost of work done but uncertified was % 1,500/- and material costing
¥ 2,500/- were 1n hand on site.

Charge 15% depreciation on plant and take to the Profit and Loss Account

% of the profit received. Prepare a Contract Account, Contractee’s

Account and Balance Sheet from the above particulars.

The finished product of a factory has to pass through three process 1, 2
and 3. During August 2017 data relating to this product was as shown

below : [15]

Particulars Process | Process | Process | Total
1 2 3

Basic Raw Material % 6,000 - -1 6,000

(10,000 units)

Direct Material added 8,500 9,500 5,500 | 23,500

Direct Wages ¥ 4,000 6,000 12,000 | 22,000

Direct Expenses 1,200 930 1,340 | 3,470

Production Overheads % - - -1 16,500

(absorbed as a percentage

of direct wages)

Output units 9,200 8,700 7,900 -

Normal Loss % 10 5 10 -

Scrap value of

Normal loss per unit ¥ 0.20 0.50 1.00 -

There was no stock at the beginning or at the end of any process. You
are required to prepare :-

1)  Process ‘1’ Account.

1) Process ‘2’ Account.

i) Process ‘3’ Account.

iv) Abnormal Loss Account.

v)  Abnormal Gain Account.
OR

[5515]Ext.-310 3



Lines Transport Co. Raipur.
Particulars

Mileage run (annual)

Cost of vehicle

Road Licence (annual)
Annual Insurance

Annual Garage Rent
Supervision and Salaries (annual)
Driver’s wages per hour
Cost of fuel per litre

Miles run per litre

Repairs and Maintenance ( per mile)

Tyre Allocation per mile
Estimated Life of vehicle

b) From the following data calculate the cost per running mile of Road

[15]

15,000 miles
¥7,50,000/-
¥22,500/-
¥21,000/-
¥21,750/-
¥72,000/-

¥ 30/-

% 60/-

20 miles
%2.00/-

% 1.00/-
1,00,000 miles

Charge interest at 10% p.a. on the cost of vehicle. The vehicle run 20

miles per hour on an average.

S 4+
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Total No. of Questions :5] SEAT No. :
P127

[5515] Ext.- 311 [Total No. of Pages : 4

T.Y. B.Com. (External)
STATISTICS
BUSSINESS STATISTICS
(2013 Pattern) (Special Paper - II)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.

Q1) Attempt any five of the following : [5x2=10]
a) State addition theorem of probability.
b) Define independence of two events.
c) Define the partition of sample space.
d) State additive property of Poisson distribution.

e) If X—>B(n,p) with E(X) =42 and Var(X) = 14 then find the value of n
and p.

f)  Compute 15 P.,.

02) Attempt any four of the following : [4%5=20]

a) If A and B are any two events defined on the sample space QQ with
P(A)=0.8, P(B) = K and P(AUB) = 0.9, then find the value of K,

1)  When A and B are independent events,
i)  When A and B are mutually exclusive events.

b) The average number of misprints per page of a book is 3.0. Assuming
the distribution of number of misprints to be Poisson. Find

1)  The probability that a particular book is free from misprints.

i) Number of pages containing more than one misprint if the book
contains 100 pages.

c) State the p.d.f. of normal distribution. State its mean and variance. Define
standard normal variate.

d) Define : Type I error, Type II error
e) Describe Mann-Whitney test.

PTO.



03) Attempt any four of the following :

b)

d)

x2 + 2 X = _191
- . P(x,p) =M;
The joint p.m.f. of (x,y) is 20 y=-22

=0 ; otherwise

verify whether (x,y) are independent or not?
2x+5 X= L 2
. . P(x,y):—( y);
The joint p.m.f. of (x,p) is 42 y=12

=0 ; otherwise

obtain conditional probability distribution of y given (x = 2).
Define: 1) Level of significance
i)  Critical region

i) P-value

Describe Kolmogorov-Smirnov test.

[4x5=20]

A unbiased coin is tossed 3 times. A person receives Rs.X?, if he gets X

number of tails in all. Find his expected gain.

04) Attempt any two of the following :

a)

[2x10=20]

1)  Describe the test procedure of large sample test for equality of two

population means.

1) A sample of 400 electric bulbs from company A, gave an average
life 1225 hours with a standard deviation 42 hours, where as sample
of 200 bulbs from company B gave an average life 1265 hours with
a standard deviation 60 hours. can we say that the two companies
are producing bulbs of same average life. Use 5% level of

significance.

[5515]Ext.-311 2



b) 1)  Describe the test procedure of large sample test for equality of two
population proportions.

1) A certain factory runs in two shifts. A sample of 1000 items selected
from production of first shift gave 52 defective items. However a
sample of 700 items selected from production of second shift gave
45 defective items. Can we conclude that proportion of defective
items in the first shift is less than that of second shift? Use 5% level
of significance.

c) A health club advertised a weight reduction program and claimed that on
the average participants in program loses weight in 6 months. A person
wanted to verify the claim. The club allowed him to select randomly the
records of 10 participants about their weight before and after the program.
The data were as follows :

Participant No. 1 2 3 4 5 6 7 8 9 10
Weight before 120 125 115 119 130 123 122 127 128 118
Weight after 111 114 107 112 120 115 112 120 119 112

Do the data support claim of the health club? Use 1% level of significance.

d) The following table shows the classification of 1200 workers in a factory
according to the disciplinary action taken by the management and their
promotional experience.

Promotional Experience

Disciplinary Action Promoted Not promoted
Non-offenders 100 258
Offenders 42 800

Test whether the promotional experience is independent of disciplinary
action. Use 5% l.o.s.

[5515]Ext.-311 3



05) Attempt any two of the following : [2x15=30]
a) IfX—>N(30, 4) then find

P(X<30), P(X<34), P(X=32), P(28<X<32), E(Y) and Var (Y) for
Y= X-30 |
2
b) 1)  Explain the Chi-Square test for testing goodness of fit.

i)  The table below gives the number of accidents that occurred in the
certain factory on the various days of a particular week.

Day Sun. Mon. Tue. Wed. Thurs. Fri.  Sat.

No. of accidents | 6 4 9 7 8 10 12

Test at 5% level of significance, whether the accidents are uniformly
distributed over the different days.

c) 1) Foracertain normal distribution, exactly 8% of items are below 40
and 90% of items are below 60. Find the mean and standard deviation
of the distribution.

i) Two random samples are drawn from normal populations are given
below:

Sample I : 20, 16, 26, 27, 23, 22, 18, 24, 25, 19.
Sample 11 : 17,23, 32, 25, 22, 24, 28, 31, 33, 20, 22.

Test whether the two populations from which above samples are
drawn have the same variance. Use 2% level of significance.

b
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Total No. of Questions : 5] SEAT No. :

P128 [Total No. of Pages : 2
[5515] Ext.-312
T.Y. B.Com. (External)
BUSINESS ENTREPRENEURSHIP
(2013 Pattern) (Paper - II)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:
1) All questions are compulsory.
2) All questions carry equal marks.

Q1) Explain the guidlines for selection of New Project. Explain the role of project
identification. [20]

02) Explain in detail the steps taken by Government to solve the problems of
Small Scale Industries. [20]
OR

Explain the elements of identification of Entreprenical opportunities. [20]

03) a) Explain the financial incentives for small scale industries and Tax

Concession. [10]
b) Explain the functions of SIDBI. [10]
OR
a) Explain the start up, stability and growth phases of Small Enterprise
management. [10]
b) Explain the term “Business Sickness”. State causes of Industrial sickness.
[10]
04) Explain the elements to be considered while preparing Project Report to start
Small Scale Unit. [20]
05) Write short notes (Any Two) : [20]

a) Capital Investment for Small Scale Industries.
b) Guidelines for preparing business plan.

c) Turn around strategies.

d) Project Audit.

+4 4+
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Total No. of Questions : 6] SEAT No. :

P129 [Total No. of Pages : 2
[5515] Ext.-313

T.Y. B.Com. (External)
MARKETING MANAGEMENT - 11
(2013 Pattern) (Paper - II)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Whatis ‘Social Marketing’? Explain the recent trends in ‘Social Marketing’.

[16]
02) Whatis ‘Marketing Strategy’? Explain the competitive ‘Marketing Strategy’.
[16]

OR
What is ‘Marketing Organisation’? What are the factors affecting ‘Marketing

Organisation’.

03) a) Write a detail note on types of Agricultural Products. [8]
b) What are the features of ‘Social Marketing’? [8]

OR

a) What are problems in ‘International Marketing’?
b) What are the ‘Sales Forecasting Techniques’?

04) Distinguish between ‘Manufactured Goods Marketing” and ‘ Agricultural Goods

Marketing’. [16]
05) Explain the difference between ‘International Marketing’ and ‘Domestic
Marketing’. [16]
OR
What is meaning of ‘Globalisation’? Explain the impact of Globalisation on
Marketing.
06) Write short notes (Any Two) : [20]

a) Objectives of Sales Quota.
b) Marketing in 21% Century.
c) Trade Marks Act - 1999.

d) Benchmarking. PTO
S+ 1.0.
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MARKETING MANAGEMENT -11
(2013 Pattern) (Paper - II)
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T.Y. B.Com. (External)
AGRICULTURALAND INDUSTRIAL ECONOMICS
(2013 Pattern) (Special Paper - II)

Time : 3 Hours| [Max. Marks :100

Instructions to the candidates:
1)  Question No. 1 is compulsory.
2) Attempt any five from question no. 2 to 8.
3) Figures to the right indicate full marks.

Q1) Take a brief account of institutional land reforms and their impact since 1991
in India. [20]

02) Explain in detail, the role of Agriculture in Indian economy. [16]

03) What is ‘Minimum Support Prices’? Discuss the impact of minimum support
prices declared during planning period. [16]

04) Critically examine the Role of ‘MGNREGA’ in solving the problem of Rural
unemployment. [16]

05) Explain the broad highlights of Industrial Growth in India since 1991.  [16]

06) Answer in brief:
a) Explainsocial security and welfare measures implemented by Government

since 1991. [8]
b) State the causes of Industrial disputes. [8]
07) Explain the role of ‘IFCI’ in industrial Finance since 1991. [16]

08) Write short notes on :
a) Problems of Public Enterprises. [8]
b) Problems of Sugar Industry in India. [8]

+4 4+
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AGRICULTURALAND INDUSTRIAL ECONOMICS
(2013 Pattern) (Special Paper - II)
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T.Y. B.Com. (External)
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Defence Production and Management in India

(2013 Pattern) (Paper - II)
Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) : [20]
1)  Define economic warfare.
1)  Define sustainable development.
i) Define public good.
iv) Write any two features of strategic planning.
v)  Write any two characteristics of India’s industrial policy.
vi) State the meaning of budgetary perspectives.
vil) What do you mean by mixed economy?
viii) Define zero budgets.
iX) Define Threat perception.
x)  Write any two elements of war.
xi) Define National power.
xil) What are the sources of War Finance?

xiil) Write any two limitations of Defence management.

PT.O.



02) Answer in 300 words each (any one) : [20]
1)  Write anote on the evolution of information warfare in defence planning.

1)  Explain the problems of indigenous defence production.

03) Answer in 300 words each (any one) : [20]
1)  Explain role of private sector in India’s Defence production.

i)  Describe structure and functions of Ministry of Defence.

04) Answer in 150 words each (any two) : [2x10=20]
i) Do you think “Defence and Development” go side by side? Explain.
i)  Describe importance of ration during war in the battle zone.

i) Discuss Challenges to financial management during war.

05) Answer in 150 words (any two) : [2 x 10 = 20]
1)  Explain importance of economic warfare in achieving national objectives.
1)  Discuss structure of India’s defence budget.

i) Discuss about the effects of war on society.

S+
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DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Defence Production and Management in India
(2013 Pattern)(Paper - II)
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T.Y. B.Com. (External)
INSURANCE TRANSPORT & TOURISM
Insurance, Transport and Clearance - 11

(2013 Pattern) (Special Paper - II)
Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:
1) Question No.l is compulsory.
2) Solve any five questions from Q. No.2 to Q. No. 9.
3) Figures to the right indicate full marks.

Q1) Define Life Insurance. Explain the types of claims. [20]
02) Explain the difference between Nomination & assingnment. [16]
03) Explain the effects of Privatization and Insurance Business. [16]
04) State the provisions under Insurance Act 1938 [16]

05) Give the meaning of General Insurance and explain the various types of claims

of General Insurance. [16]
06) Explain the importance of timely payment of insurance premium. [16]
07) Explain the provisions under Insurance Amendment Act, 2002 [16]
08) Explain Record keeping and performance for Insurance Agents. [16]
09) Explain the current trends of General Insurance in Global Business.  [16]

PT.O.
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INSURANCE TRANSPORT & TOURISM
Insurance , Transport and Clearance - 11
(2013 Pattern) (Special Paper - II)
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T.Y.B.Com. (External)
COMPUTER PROGRAMMING & APPLICATION
3521: Computer Networkingand Cyber Security
(2013 Pattern) (Paper - 11)

Time: 3Hours] [Max. Marks:100
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Neat diagram must be drawn whenever necessary.

Q1) Attempt any ten of thefollowing: [20]
a List any four components of LAN.
b) What isEncryption?
c) What is password cracking?
d) Whatiswired Network?
e) Writefull form of
) SAP
iy IEEE
f)  Define Computer Network.
g) Whatisauthentication?
h)  What is protocol?
1)  Write any two differences between | SO-OS| and TCP/IP model.
J)  Writeany two security issuesin wireless network.
k) WhatisWAN?
)  Whatisplainand cipher text?

P.T.O.



Q2) Attempt any four of following:

a)
b)
c)
d)
€)

What istopology? Explain ring topology.

Explainin detail concept of Public Key Infrastructure.
What is NIC? Explain Components of NIC.
Explaindigital signaturein detail.

Explain functions of network layer of SO-OSI reference model.

Q3) Attempt any four of following:

a)
b)
C)
d)
€)

Explain Infra-red wirelesstransmission.
Explainindetail ssimplex communication.
Differentiate between UTPand STP.

Explain | EEE standards.

Explain current scenario in Information security.

Q4) Write short note on (Any four):

a)
b)

c)
d)
€)

Q5) 8

b)

Classfull Addressing.
Connectionless services.
E-commerce security.
Types of NIC.

Co-axial cable connector.

Attempt any two of following:

i)  Differentiate between LAN and WAN.

i)  Explainstegnography in detail.

i) With suitable diagram explain bluetooth architecture.
Attempt any two of following:

1)  What is malacious code? Explain types of malacious code.

i)  Explain addressing mechanism of |EEE 802.11.
i)  What isattack? Explain passive attack in detail.

EEE
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T.Y. B.Com. (External)
BUSINESS ADMINISTRATION
Finance, Production and Operation Functions
(2013 Pattern) (Special Paper - 11I)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is Finance function? Explain the importance of finance functions in
business? [20]

02) State various factors influencing the capital structure of a comapany.  [20]

OR
What is under capitalisation? Explain the causes and effects of under
capitalisation. [20]
03) a) Explain the types of preference shares and its characteristics. [10]
b) What are modern material handling equipments? [10]

OR
a) Explain steps in Financial Planning. [10]
b) Explain the factors affecting production control. [10]

04) Whatis Production Planning? Explain objectives and importance of Production
Planning. [20]

05) Write Short Notes on (ANY TWO) : [20]
a) Techniques of Plant layout
b) Need of Finance
c) JIT (Just in Time) manufacturing and its advantages.
d) Duties of Production Manager

PT.O.
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BUSINESS ADMINISTRATION
Finance, Production and Operation Functions
(2013 Pattern) (Special Paper - I1I)
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T.Y. B.Com. (External)
BANKING & FINANCE
Banking Law and Practice in India
(2013 Pattern) (Special Paper - 11I)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is paying banker? Explain in detail the statutory protection to paying

banker. [20]
02) Define Banker and Customer. Explain the relationship between banker and
Customer. [20]

OR

State Banking regulation act 1949 and explain how it is applicable to the
co-operative banks?

03) a) State precaution to be taken by the banker while advancing against real

estate. [10]
b) Explain legal measures of recovery of loans. [10]
OR

a) State precaution to be taken by the banker while advancing against fixed
deposit receipt. [10]

b) Explain nonlegal measures of recovery of loans. [10]

04) Explain characteristics of negotiable instruments. [20]
05) Write short notes on (any two) : [20]

a)  Voluntary Amalgamation
b) Noting and protest

c) Rights of collecting banker.
d) Garnishee order.

PT.O.
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BANKING & FINANCE
Banking Law and Practice in India
(2013 Pattern) (Special Paper - I1I)
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P136 [Total No. of Pages : 4
[5515] Ext.-320

T.Y. B.Com. (External)
BUSINESS LAWS & PRACTICES
(2013 Pattern) (Special Paper - III)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Calculator may be used.

Q1) Define the term trade mark. Explain the procedure for registration of trade
mark. Also explain infringement of trade mark. [18]

02) Define the term ‘Company Auditor’. Explain legal provisions about appointment

of company auditor & his duties. [18]
OR
Define the term ‘Company Secretary’. What are the qualifications required by
company secretary. [18]
03) a) Explain meaning & features of service tax. [8]

b) From the following information about a trader from Bihar whose turnover
during the year is Rs. 82,50,000 which includes following. Calculate

CST payable. [8]
Interstate sales proceeds 82,50,000
It includes
1)  Excise duty 8,00,000
i)  Freight (of this Rs. 50,000 is

not shown separately in invoices.) 2,50,000
i) Insurance charges incurred prior

to delivery of goods 28,000
iv) Installation charges shown separately 20,000
v)  Design charges shown separately 35,000
C.S.T. is 2%. All customers have issued ‘C’ forms.

OR

PT.O.



b) Explain meaning & objectives of customs Act.What is confiscation of
goods? [8]

04) State Borrowing powers of the company. Explain the procedure of acceptance

of deposits. [18]
OR
Define Bonus Shares. State the procedure of issue of Bonus Shares. Explain
advantages & limitations of Bonus Shares. [18]
05) Write short notes on (any two) : [18]

a) Mortgage & Pledge
b) Statutory books & Registers
c¢) Removal of Auditor

d) Interest & Dividend

06) Define the term ‘Patent’. What are the contents of application for patent.
Explain in brief opposition to grant of patent. [12]

[5515] Ext.-320 2
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BUSINESS LAWS & PRACTICES
(2013 Pattern) (Special Paper - I1I)
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T.Y. B.Com. (External)

CO-OPERATION AND RURALDEVELOPMENT
(2013 Pattern) (Paper - III)

Time : 3 Hours| [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define co-operative marketing. Explain the imporatance and scope of
co-operating marketing. [20]

02) Explain the concept of marketing research. State the need and practice of

marketing research in co-operatives. [20]

OR
What is meant by pricing? State the problems related to Minimum Support
Price [M.S.P.]. [20]
03) a) Write a note on state co-operating marketing federation. [10]
b) State the importance of marketing strategy in co-operatives. [10]

OR
a) State the functions of NAFED. [10]
b) Explain the features of Agriculture produce market (Regulation) Act,
1963. [10]
04) Explain the objective and basic features of agriculture produce market
(Development & Regulation) Act, 2003. (Model Act). [20]
05) Write short notes on (Any Two) : [20]

a) State the functions of agriculture produce market committee.

b) State the marketing strategy followed by co-operative service marketing.
c) Write a note on marketing of poultry co-operatives.

d) Explain the mechanism of estimating of minimum support price by APMC.

PT.O.
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T.Y.B.Com. (External)
COST ANDWORKSACCOUNTING
(2013 Pattern) (Special Paper - 111)

Time: 3Hourg] [Max. Marks:100
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Useof calculator is allowed.

Q1) @ Fillintheblanks(Any Five): [9]
1)  Thefirst step in preparing a budget is Forecast.
i)  Margina cost does not include cost.

i)  The Standards issued by Cost Accounting Standard Board are
in nature.

IvV)  Inter-firm comparison facilitates
v) IdleTime Variance will always be

vi) The Cost Audit Report rules have been framed by the
Government.

b) State whether thefollowing statementsare True or False (Any Five): [5]
1)  P/V Ratio can be improved by selling more Profitable Product.
i) A Budget is both aplan aswell as control tool.

i) Uniform costing can be applied when the firms are members of the
same trade associations.

Iv) Cost Audit Report covers a period of one Previous Year.

v) MIS is System to support decision making function in the
organisation.

vi) Cost Audit aims at establishing truth and fairness of Financial
Statements.

P.T.O.



Q2) Definetheterminter-firm comparison. State the advantages and limitations of
inter-firm comparison. [20]

OR

Explaintheterm Cost Audit. Explain objectives and advantages of Cost Audit.

Q3) Write Short notes on (Any Four): [20]
d MIS important tools.
b) Objective of Uniform Costing.
c) Featuresof Farm Costing.
d) Qudlification of Cost Auditor.
e) Components of MIS.

f)  Property Audit.

Q4) @ InHindustan Co. Ltd. Mumbai the sales and profits for the two periods

areasgiven below: [15]
Period Sales Profit

I 1,00,000 9,000

I 1,20,000 13,000

You arerequired to calculate,
) P/V Ratio
i) BEP(Sdes)
i)  Profitswhen Sales are Rs. 1,50,000
Iv) Salesrequired to earn a profit of Rs. 50,000
v) Margin of safety in Period - 11 and
OR

[5515]Ext.-322 2



a From the following data for a 60% capacity, prepare budget for 80%

and 100% capacity. [15]
Production 60 units

Material cost Rs. 100 per unit

Direct wages Rs. 40 per unit

Direct Expenses Rs. 10 per unit

Factory overheads Rs. 4,000 (40% Fixed)
Administrative overheads Rs. 3,000 (60% Fixed)

b) From the following information calculate labour cost variance a labour
efficiency variance: [9]
Gross Wages direct Rs. 28,290
Standard hours produced 8,640
Standard rate per hour Rs.3.00
Actual hoursworked 8,200

Q5) @ Fromthefollowinginformation calculate [15]

)  Materia cost variance.
i) Materia Pricevariance.
i) Material Usagevariance.

Iv) Material Mix variance. And verify theresults,

Materid Standard Actual
Qty. | Rate | Amount Qty. | Rate | Amount
kg. Rs. Rs. kg. Rs. Rs.
400 1 400 | 200 | 3.50 700
B 200 | 2 400 | 100 | 2 200
200 | 4 800 | 300 | 3 900
800 1,600 | 600 1,800
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b) Ajay Electrical Ltd. Pune provides you the cost details regarding

manufacture of certain products for June 2017. [15]
Standard Time per unit of output 10 Hours

Standard Rate per Labour Hour Rs.8

Actual Monthly products 1,100 Units

Effective hours Worked 11,500 Hours

Idletime 500 Hours

Actual Total Hours Paid 12,000 Hours

Total Wages Payment for the Month 1,20,000

Your are required to find out Various Labour Variances
I)  Labour Cost Variance

i) Labour Rate Variance

i) Labour Efficiency Variance

Iv) ldleTimeVarianceand verify theresult

OR
b) From thefollowing figures, prepare cost statement for crop for the year
ending 31% March, 2016: [15]
)  Stock on 1% April 2015-  Crops 1000
Growing Crops 1500
Seeds 500
Fertilizers 1800
Stock on 31 March, 2016- Crops 1400
Growing Crops 1800
Seeds 400
Fertilizers 1100

i)  Seedsof Rs. 200 and fertilizers of Rs. 800 purchased during the year.
ii)  Crops of Rs. 2,500 sold during the year.
IvV) Wages paid during the year Rs. 1,600.

v) Workers and proprietor have consumed crops of Rs. 400 and
Rs.300 respectively during the year.

cEE
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T.Y. B.Com. (External)
STATISTICS
Business Statistics
(2013 Pattern) (Special Paper - III)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

3) Use of statistical table and calculator is allowed.
Q1) Attempt any five of the following : [S x 2 =10]

a)  Obtain the saddle point for the following game :

Player B

1 7
Player A
6 2

b) Explain the term two person zero sum game.

c) State the condition that cost function can be determined as maximum

function.
d) Explain the term ‘Most likely time’ in PERT.
e) State any causes each from the assignable and chance causes.
f)  State whether each of the following statement is true or false :
1)  CPM is non-deterministic model.

i) The probability distribution of service rate follows normal

distribution in queuing theory.
P.T.O.



02) Attempt any four of the following : [4 x § =20]
a)  Explain the following terms :
1)  Tolerance limits.
i)  Process capability index.
b) Explain the maxima function with an illustration.

c) Solve the game with following pay-off matrix by using the principle of

dominance.
Player B
B, B, B, B,
Al 3 2 7
Player AA,|3 4 1 5
A, |6 5 7 6

d) IfC(x)=12x*—4x*+ 70x + 12 is the manufacturer’s total cost function,
find the

1)  Average cost
1) Fixed cost
1) Variable cost

iv) Marginal cost

[5515] Ext.-323 2



e)

For the following pay-off table, find the optimal strategy by maximax,

maximin, Laplace criterion and Hurwicz criterion (o = 0.8).

N N N N

1 2 3 4

S 16 11 12 7

S 13 12 10 11

S 11 12 12 15

03) Attempt any four of the following : [4 x 5 = 20]

a)

b)

d)

Explain chance and assignable causes.
Explain the following terms :

1)  Expectation of life.

1)  Arrival rate.

i)  Utilization factor.

1v)  Queue Discipline.

The pieces of cloth in 10 different rolls contain following number of

defects :
3,0,2,7,4,2,1,3,7, 1.

Construct C-chart. Comment on the result.

For the following network find all paths and identify the critical path.
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e) Investigate the maxima and minima of the profit function

P(x) = x* — 48x + 50. Also find the maximum value of profit.

04) Attempt any two of the following : [2 x 10 = 20]
a) 1)  State the purpose of replacement problem? [2]

i)  The maintenance cost and resale value per year of a machine whose

purchase price is Rs. 10,000 is given below :

Year Maintenance Cost Resale Value
(in Rs.)
2001 2000 7000
2002 2200 5500
2003 2400 4000
2004 2600 3000
2005 2800 2000
2006 3200 1000
2007 3700 1000
2008 4500 500
When should the machine be replaced? [8]
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b) Aself service employees one cashier at its counter. Ten customers arrive
on an average per hour while the cashier can serve 30 customers per

hour. Find : [10]
1)  Probability that cashier is idle.

i)  Average time a customer waits before being served.

i)  Average number of customers in queue.

1v) Average number of customers in the system.

v) Probability that a customer has to wait before he gets service.

c) Following is the probability distribution of daily sales of items. [10]

Sales 0 5 10 15 20 25

No. of days | 2 11 8 21 5 3

Using random numbers given below estimate sales for next 10 days.
35, 52,90, 13, 23,73, 34, 57, 35, 83.
Also find average daily sales.

d) The following table gives the activities in a project and other relevant

information : [10]

Activity (1-2 1-3 14 25 35 34 46 57 67

Duration | 3 5 4 2 3 7 9 8 9

Find earliest start, earliest finish, latest start, latest finish, total float,
free float and independent float for each activity. Also find the critical

path.
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05) Attempt any two of the following : [2 x 15 = 30]

a) The demand for cake in the bakery shop may be 25, 26, 27, 28 with
probabilities 0.1, 0.3, 0.5, 0.1 respectively. Making cost and selling price
of one cake is Rs. 8 and Rs. 10 respectively. Balance cake is treated as
waste. Write the pay off matrix for the given situation. Also prepare
opportunity loss table. How much cake should be make using EOL
criteria? Verify that the optimal strategy obtained by EMV and EOL

criterion is same?

b) A machine is set to deliver packets of given weight, 10 samples of size 5

each were recorded as follows :

Sample No. 1 2 3 4 5 6 7 8 9 10

Mean (X) 15 17 15 18 17 14 18 15 17 16

Range (R) 7 7 4 9 8 7 12 4 11 5

Construct control chart for mean and range. Also comment on whether

the process seems to be under control (n = 5, A2 = 0.577, D, = 0,

D, =2.115).
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c) A project has the following activities and other characteristics :

Activity Time estimates

t t t.
1-2 6 24 6
1-3 6 18 12
1-4 12 30 12
2-5 6 6 6
3-5 12 48 30
4-6 12 42 30
5-6 18 54 30

1)  Draw project network and calculate the length and variance of the

critical path.

i)  What is the probability that project will be completed within 80
days?

F 44+
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T.Y. B.Com. (External)
BUSINESS ENTREPRENEURSHIP
(2013 Pattern) (Paper - III) (306-g)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define the term ‘Personality’. State and explain the determinants of personality.
[18]

02) Explain the following models of organizational behaviour - [18]
a) Autocratic Model
b) Custodial Model
OR

Describe the entrepreneurial personality of Shri. Aditya Vikram Birla.  [18]

03) a) Define the term ‘group’. Explain the nature of group. [9]
b) Distinguish between group and team. [9]

OR
a)  Write a note on ‘job analysis’. [9]
b) Explain any three types of conflict. [9]
04) Define the term ‘Stress’. What are the sources of stress? [18]
05) Write short notes on (Any Two) : [18]

a) Types of team

b) Characteristics of organizational development
c) Advantages of formal group

d) Management by objectives

06) Due to globalization, management of a company has decided to implement
changes in various departments. But there is resistance to changes by
employees. As the cheif manager of a company, how you will manage the
resistance to changes? [10]

PT.O.
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MARKETING MANAGEMENT
Advertising Management
(2013 Pattern) (Paper - III)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define Advertising Media. Explain the classifications and characteristics of

different Advertising Media. [18]

02) Explain the different appeals and their significance advertising. [18]
OR

Explain the difference between industrial marketing and consumer marketing.

[18]

03) a) Explain the role of advertising in modern business. [9]

b) Explain the process of Branding. [9]
OR

a) Explain the marketing Research process. [9]

b) Explain the logistics function. [9]

04) What is marketing control? Explain the essential of an effective marketing
control system. [18]

05) Write Short Notes on (Any Two) : [18]
a) Types of questionnaire
b) Market targeting
c) Strategies of market targeting
d) Marketing Audit

06) Explain the need and functions of warehousing. [10]
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AGRICULTURALAND INDUSTRIAL ECONOMICS
(2013 Pattern) (Special Paper - I1I)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) Question No.l is compulsory.

2) Attempt any 5 from Q. No.2 to Q. No. 8.

3) Figures to the right indicate full marks.

Q1) Explain the recent trends in Indian Agriculture. [20]

02) Discuss the comparative advantages and disadvantages of modern means of
Irrigation. [16]

03) Explain the progress of dairy cooperatives in India since 1991. [16]

04) Evaluate the performance of District Central Co-Operative Banks in rural credit
since 1991. [16]

05) Examine the impact of Industrial Policy 1991 on Indian economy. [16]

06) Answer in Brief':
a) State the measures used by government for balanced industrial

development in India since 1991. [8]

b) State the merits of MNC'’s. [8]

07) Explain the features and Impact of ‘SEZ’ on Indian economy. [16]
08) Write Short Notes on : [16]

a) Infrastructure and economic development
b) Problems of public sector investment in infrastructure development.
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DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Defence Production And Financial Management in India
(2013 Pattern) (Paper - 11II)

Time : 3 Hours| [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) [20]
1)  Define economic warfare.

1) Define Defence management.

i)  What do you mean by mobilization of resources for defence?
iv) Define performance budget.

v)  What do you mean by strategic planning for defence?
vi) What is contributory element of defence expenditure?
vil) What are the aims of peace time economy?

viii) Define deficit budget.

ixX) Write any two war principles.

x)  Write any two functions of financial advisor.

xi) Write any two consequence of defence expenditure.
xil) What are the domestic sources of War Finance?

xii)) What do you mean by non-strategic threats?

PTO.



02) Answer in 300 words each (any one) : [20]
1)  Analyses India’s Defence expenditure since 1947.

1)  Explain application of management practices in the armed forces.

03) Answer in 300 words each (any one) : [20]
1)  Write a note on the make in India and defence procurement.

i)  Discuss India’s structure of Defence budget.

04) Answer in 150 words each (any two) : [2x10=20]

1)  Write a note on the role of foreign collaboration in India’s defence
production.

1) “Defence vs development” goes by side. Do you agree? Justify.

i) Discuss challenges and limitations of defence management.

05) Answer in 150 words each (any two) : [2x10=20]
1)  Explain link between war and economy.
i)  Discuss methods of parliament control over India’s defence budget.

i) Discuss salient features of India’s economic system.

[5515] Ext.-327 2
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INSURANCE , TRANSPORT AND TOURISM
Insurance, Transport And Clearance
(2013 Pattern) (Special Paper - I1I)

Time : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) Question No.l is compulsory.

2) Solve any 5 questions from Q. No.2 to Q. No. 9.

3) Figures to the right indicate full marks.

Q1) Define Tourism. Explain the factors consider to travel and tourism business.[20]
02) Explain the functions and working of International Air Travel Agency[IATA].

[16]
03) Explain the role of Embassy and weather conditions in Tour Planning. [16]

04) Explain the elements and features of logistic management in India. [16]

05) Explain the role of Tour and Travel Agents and Marketing of group tours.[16]

06) Explain the facilities available to International Tourist in Gulf and Dubai. [16]

Q7) State and explain the different types of accommodation. [16]

08) Explain the different qualities required for Tourism Business. [16]

09) Explain the significance of Transport in Indian Economy. [16]
D o
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COMPUTER PROGRAMMING & APPLICATIONS
3523 : Software Engineering
(2013 Pattern) (Special Paper-III)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Neat diagrams must be drawn wherever necessary.

Q1) Attempt any TEN of the following. [20]
a) What is software?
b) Whatis operational Feasibility?
c) What is module?
d) Define physical and abstract systems.
e) Define Decision tree.
f)  Why Software testing is important?
g)  What are attributes?
h) What is software Risk?
1)  Define the term software quality.
7)) Whatis system analysis?
k) Define co-ordinate module.

)  Whatis entity?

P.T.O.



Q2) Attempt any FOUR of the following. [20]

a)  What are the merits and demerits of Incremental model.
b) Explain various types of modules.
c) Whatis Software Engineering? Explain different characteristics of
Software.
d) Explain principles of testing.
e) Explainalpha and beta testing.
Q3) Attempt any FOUR of the following. [20]
a) Explain Structure chart in detail with example.
b) Explain different types of cohesion.
c) Explain in detail mapping cardinality.
d) Enlist various components of data dictionary.
e) Describe logical DFD with suitable diagram.
Q4) Write short note on any FOUR of the following. [20]
a) Spiral model
b) Feasibility Study
c) ERD
d) Equivalent Partitioning
e) Unittesting

[5515]Ext.-329 2



Q5) a) Solve the following case study [10]

Consider a company which is offering certain discount on the total amount
of purchase. If the purchase amount is >10,000 and the customer is
making the payment within 10 days then 3% discount is offer on the total
invoice amount. If the total purchase amount is <10,000 and the payment
is made within 10 days then the total of 2% discount is offer and the total
amount is <5000 and the person is paying within 10 days, then no discount
is offer on the invoice. If the person is taking more than 10 days to pay
then he has to pay full invoice amount.

1)  Draw Decision Tree
1))  Draw Decision Table
b) Solve the following case study [10]
Consider a ‘college admission system’
1)  Draw ER diagram.

i)  Draw context level DFD.

OJOJOIO;
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